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BHHEE (m) 9.43
BHIFHENE (m) 2.49
HifL5 (m) 3.70
L= 6.50
FEYA4X(m) | w= 2.25
H= 2.10
B TEEE (M) 30.71

= 5
HHEERE (m) 9.45
HH{20E (m) 2.50
HiE5(m) 3.80
L= 6.50
FEHYA1X(m) W= 2.30
H= 2.21
FEHrlaE= (M) 33.03

= 5
HifieRK(m) 11.36
B 20E (m) 2.49
ELTESAGO) 3.77
L= 8.47
FEYA4X(m) | w= 2.32
H= 2.19
BETEEE (m) 43.03

= 5
HifieRK(m) 8.16
HEEME(m) 2.49
HiE5(m) 3.40
L= 445
FTEHYA1X(m) W= 2.35
H= 2.00
FEHTBE=E (M) 20.91

= ¥
HifizR (m) 9.74
HEEmE(m) 2.49
Hifizs (m) 3.46
L= 5.90
FEYA4X(m) | w= 2.35
H= 2.18
HEEATREE (M) 30.22

= 5
HHER (m) 10.92
HEEME(m) 2.49
HiE5(m) 3.56
L= 7.22
FEYA4X(m) | w= 2.31
H= 1.80
FEE ATEE= (M) 30.02
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BHifi2R (m) 10.18
EL e S G)) 2.49
HHFfEE(m) 3.71
L= 6.40
FEYA4X(m) | w= 2.35
H= 2.22
BETEEE (m) 33.38




